SRR 2 9 4R

1 2 A{TE8T/E

1| & [t&WEERAR

g ('S I S WAHMTH « PTAMITHZ fa TR
i =8:15 TkeIs:15 TPV > FA /AT D EZE16:00~18:00 CHA 2 X = =7 1) 1-25%5:15
3~64F16:15

MPARROCAEAS (et Xt iR EEER) AME - [RIAnGHE S

MIRRROCC S GEHIK AR, EREAT) Fai 6FAENERER

REES: 15 1R kRS (6FEAEAMERR)

HAERE AR IEZ B R 13:00(% %) K H  PTAKHMEE219:30 V1

1~3415:15

4 | B |HEZESCRREL0:00~14:00 4~61:16:15
BEE7 AT 473V 16:15
FReE8:15 Jkil8:15 1~4%E15:15
BEETZ AT 179V QKSR 4BR R : Sy vai—L) 5+ 64£16:15

5| K |ZES6I  FE216:00 BEPIOR
HEASC3A10:00~12:00

e EHT R P 815 m&E B £15:30

1TV - AIEVHEE16:00~18:00CH & I 2=7 1)

42H%15:15

6 | 7K

EALE28:15 ALTASB PTAHURFEE 22 19:30 (K& =) T515:15

2~64F16:15

7K

R E8:15 AFZEHEMEZE B 2316:00 EDV S FRAED BE16:00~18: 00 CHATH 2 = =7 1) 1-2fE15:15
8 | & |7vithin 3~64£16:15

BRI - BIPER &
9 | L

FEORKET +—F £13:30 (BRRSNHVEEE)

10| A

HlFi8:15 AMEBBHEMEZ B4216:00 AEREIEEZEE216:00 1~3%15:15
1| A A~6AE16:15

peA 816 7977 BEARSCHAL15:00~17:00 1~3%15:15
12| K [#4416:00 4~6416:15

Wl T e e8: 15 T e NRaes R

OV o FR AT HZE16:00~18:00 CHAH 2 2 =7 1)

2115:15

13| 7K
ALTTA & AR REREI930 (RAEE) T2 14740
14 | K [JARERT 27 200 x 3~64£15:30
— 1))
EHEE8:15 . 1-24F15:15
T R I R A A RSB 2 = 36116115
15| & 14:00 (/1) BE R ey TR ik A &
ToeEn (1~54F)  BINHRZF2316:00 £
£
16 | + 2
R
17| B &
B0 #£8: 150 28 SC 3£ 10:00~14:00 B 1~3%15:15
18] A 4~64F16:15
e S 15 (GETD —i#ls) WEAEDRSR  F444316:00 DV [T E H T OIKH15:00 (5 5E) 1~3%:15:15
19 [ k& 4~6416:15
K AR FE 815 AR EEH IV > F T B3R 16:00~18:00 CHAPI 2 S = =5 1) 2F%15:15
20 | 7
ALTZHB AR BAE S 14£15:15
21 | & 2~6416:15
N FoF X SR T B S (FBEXE)13:30 I\ > F NN HR13:30~15:30 CHAP 2 S = =5 1) ZFe11:45
22 | &
+ REFEAH AZKR¥ER (~1/8) TN N L —R— L K28:00 (A BRE S AL BV R — /L)
23
24| H
1OV o TR AT Y BE9:30~11:30 13:00~16:00CHAHE I 2 =7 1)
25| A

BN C 8 5 R 22 5 £313:00
26 | ok | VB R A S RN AUBR9:00

IXbWV o T3 AE D #5830~ 14: 30 (L2 A sk An & fig )

AR B SRS BIHE 2214240

27| & zimmm JAE D HEE9:30~11:30 CHATE= 2 2 =5 4)
" AP (9/30 10/1443) WV o F R AT #HEI:30~11:30 AT I =2 =T 1)
28
EREIRIRER
29 | 4
EREIHARFER
30 [ -
EREIRIRER
31| H

(1A EZITHTE]
<X OOR) - 777 (16R) -+ B R Q0R)




